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Worksheet: -3 Subject: - Mathematics Class:-III Teacher:-Mrs. Neena Gupta

Name:- Class & Sec.:-__ Roll No.:-____ Date:-

Q.1) Tick the correct answer:-
i) 2980- =2980

a) 1 b) 0 c) 2980

ii) Subtracting zero from any number, the answer is

a) zero b) number itself c) 10 d) 100

i) ThH T O

5 6 8 0
1 3 7 5
a) 6305 b) 4305 c) 4503 d) 4053

iv ThH T O

a) 4000 b) 4949 c) 4999 d) 9494
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v) Subtract 7999 from 9000

a) 1001 b) 1100 c) 1010 d) 1000

Vi) 6296-6296=

a) 1 b) 10 ) 0 d) 100

Q.2) State true or false:-

1) On subtracting 789 from 789 we get 1.

2) On changing the order of numbers in subtraction, there is no change in

result.

3) In subtraction greater number is always written on the top.

4) The difference of 123-507 is possible.

5) Subtraction means difference or taking away.




